

الإحالة على شركة Al-Durra Al-Arabia 87/2023/112

NO	Kimadia Code	Kimadia description	Company description	Company Code	احتياج عام ٢٠٢٤	(USD)	T.P (USD)
1	CTS-RE00-026	Debakey Peripheral Clamp	Debakey Peripheral Clamp 7	DPCS-A 101	288	61.00	17,568.00
2	CTS- RE00-027	Debakey Peripheral Vascular Clamp 7	Debakey Peripheral Vascular Clamp7	DPVC-A101	266	61.00	16,226.00
3	CTS- RE00-028	Debakey Peripheral Vascular Curved 6	Debakey Peripheral Vascular Curved 6	DPVC-B102	294	42.55	12,509.70
4	CTS- RE00-045	Mueller Bronchus clamp	Mueller Bronchus Clam 7	MBCS-A101	188	39.00	7,332.00
5	CTS- RE00-048	Price Thomas Bronchus Clamp 8 3/4	Price Thomas Bronchus Clamp 8 3/4	PTBC-A101	176	66.00	11,616.00
6	CTS- RE00-050	Satinsky Paediatric cardio Vascular Clamp 5 1/4"	Satinsky Paediatric cardio Vascular Clam 5 1/4"	SPCV-A101	193	81.00	15,633.00
7	CTS- RE00-053	Adson Tissue Forceps	Adson Tissue Forceps	ATF-104	274	4.20	1,150.80
8	CTS- RE00-057	Debakey Right Angle Forceps 11	Debakey Right Angle Forceps 11	AAA-1038	241	37.00	8,917.00
9	CTS- RE00-058	Debakey Right Angle Forcps 7	Debakey Right Angle Forcps 7	AAA-1035	226	37.00	8,362.00
10	CTS- RE00-059	Debakey Right Angle Forceps 9	Debakey Right Angle Forceps 9	AAA-1037	224	37.00	8,288.00



Bab Al-Moa'adham- Baghdad Ministry of Health (Kimadia)

بغداد - باب المعظم - وزارة الصحة - (كيماديا)

Mobil: 07705419074

رقم هاتف النقال: ٠٧٧٠٥٤١٩٠٧٤

web: www.kimadia.gov.iq

الموقع على الأنترنت www.kimadia.gov.iq

e-mail: Dg@kimadia.gov.iq

البريد الإلكتروني Dg@kimadia.gov.iq

11	CTS-RE00-060	Debakey Thoracic & Vascular Tissue Forceps 6	Debakey Thoracic & Vascular Tissue Forceps 6"	S72-039	221	10.25	2,265.25
12	CTS- RE00-061	Debakey Thoracic & Vascular Tissue Forceps 7 3/4 "	Debakey Thoracic & Vascular Tissue Forceps 7 3/4 "	S72-011	250	10.25	2,562.5
13	CTS- RE00-062	Debakey Thoracic & Vascular Tissue Forceps 9 1/2	Debakey Thoracic & Vascular Tissue Forceps 9 1/2	S72-032	212	13.85	2,936.20
14	CTS- RE00-063	Duval Lung Forceps 1 = Wide 8	Duval Lung Forceps 1 = Wide 8	DLFW-A101	198	28.25	5,593.50
15	CTS- RE00-064	Duval Lung Forceps 1/2 = Wide 8 "	Duval Lung Forceps 1/2 = Wide 8 "	DLFW-B102	216	28.25	6,102.00
16	CTS- RE00-070	Maingot Dissecting Forceps 11	Maingot Dissecting Forceps 11"	MDCF-A101	227	10.15	2,304.05
17	CTS- RE00-077	O'Shaughnessy Artery Forcepes 6	O'Shaughnessy Artery Forcepes 6	OSAF-A111	219	42.90	9,395.10
18	CTS- RE00-078	O'Shaughnessy Artery Forcepes 8	O'Shaughnessy Artery Forcepes 8	OSAF-B112	221	42.90	9,480.90
19	CTS- RE00-083	Roberts Artery Forceps Curved 9	Roberts Artery Forceps Curved 9	RAFC-A101	260	17.00	4,420.00
20	CTS- RE00-086	Sponge Holding Forceps 7 1/2 "	Sponge Holding Forceps 7 1/2 "	S102-010	216	7.25	1,566.00
21	CTS- RE00-087	Sponge Holding Forceps 9 1/2 "	Sponge Holding Forceps 9 1/2 "	FSF-102	216	7.25	1,566.00
22	CTS- RE00-090	Mayo Needle Holder 9"	Mayo Needle Holder 9"	S51-018	268	45.25	12,127.00
23	CTS- RE00-091	Micro Vascular Needle holder 6 3/4 (gastrovego)	Micro Vascular Needle holder 6 3/4 (gastrovego)	S43-014AA	290	87.75	25,447.50
24	CTS- RE00-092	Micro Vascular Needle holder 6"	Micro Vascular Needle holder 6"	S48-010A	239	91.50	21,868.50
25	CTS- RE00-093	Micro Vascular Needle holder 8	Micro Vascular Needle holder 8	S48-012	258	91.50	23,607.00



Bab Al-Moa'adham- Baghdad Ministry of Health (Kimadia)

بغداد - باب المعظم - وزارة الصحة - (كيماديا)

Mobil: 07705419074

رقم هاتف النقال: ٠٧٧٠٥٤١٩٠٧٤

web: www.kimadia.gov.iq

الموقع على الأنترنت www.kimadia.gov.iq

e-mail: Dg@kimadia.gov.iq

البريد الإلكتروني Dg@kimadia.gov.iq

26	CTS- RE00-095	Allison lung Retractor neonate	Allison lung Retractor neonate 25cm	AAA-1769	144	64.80	9,331.20
27	CTS- RE00-096	Allison lung Retractor child	Allison lung Retractor child 28cm	AAA-1770	133	64.80	8,618.40
28	CTS- RE00-097	Allison lung Retractor small adult	Allison lung Retractor small adult 30cm	AAA-1768	161	64.80	10,432.80
29	CTS- RE00-098	Allison lung Retractor large adult	Allison lung Retractor large adult 32cm	AAA-1772	154	59.40	9,147.60
30	CTS- RE00-101	Army- Navy Retractor	Army- Navy Retractor 21.5cm Insulated	S115-011	239	9.00	2,151.00
31	CTS- RE00-102	Baily Rib retractor or Approximator	Baily Rib retractor or Approximator 16cm	AAA-1763	158	126.75	20,026.50
32	CTS- RE00-110	Davidson scapular Retractor 3 x 3 1/2	Davidson scapular Retractor 3 x 3 1/2	DSPR-A101	138	88.00	12,144.00
33	CTS- RE00-116	Finochietto rib spreader adult	Finochietto rib spreader adult 36X45mm 200mm 140mm	AAA-1751	124	140.00	17,360.00
34	CTS- RE00-117	Fish Retractor small	Fish Retractor small 14cm 2x2 prongs	FRSS-101	149	109.20	16,270.80
35	CTS- RE00-118	Fish Retractor medium	Fish Retractor medium 16cm 2x2 prongs	FRSS-102	153	109.20	16,707.60
36	CTS- RE00-119	Fish Retractor large	Fish Retractor large 18cm 2x2 prongs	FRSS-103	133	126.75	16,857.75
37	CTS- RE00-132	Walton Retractors - Copper malleable	Walton Retractors - Copper malleable 18cm	WRCM-101	124	25.50	3,162.00

38	CTS- RE00.134	Weitlaner deaver Retractor	Weitlaner deaver Retractor 14cm 2x3 Prongs	S132-010A	149	21.50	3,203.50
39	CTS- RE00-139	Debakey vascular scissors 7" 45 degree	Debakey vascular scissors 7" 45 degree	DBVS-A101	240	28.00	6,720.00
40	CTS- RE00-140	Debakey vascular scissors 7" 60 de degree	Debakey vascular scissors 7" 60 degree	DBVS-A102	227	28.00	6,356.00
41	CTS- RE00-141	Debakey vascular scissors 7" 25 degree	Debakey vascular scissors 7" 25 degree	DBVS-A103	228	28.00	6,384.00
42	CTS- RE00-150	Potts scissors angles 60	Potts scissors angles 60 18cm	AAAA-0003	244	62.00	15,128.00
43	CTS- RE00-153	potts smith scissors angled 45	potts smith scissors angled 45 18cm	OPS-S101	221	47.50	10,497.50
44	CTS- RE00-156	turner warwick dissectig scissors	Turner warwick dissectig scissors 14.5cm	TWDS-A101	163	58.00	9,454.00
45	CTS- RE00-160	Saverbruch Rongeur 13 mm	Saverbruch Rongeur 18 cm Straight	SBRS-101	110	439.00	48,290.00
46	CTS- RE00-161	Saverbruch Rongeur 17 mm	Saverbruch Rongeur 18 cm Straight	SBRS-102	108	439.00	47,412.00
47	CTS- RE00-163	Stille- Iver type double action rongeur	Stille- Iver type double action rongeur 22cm 10mm Straight	AAA-1241	109	94.00	10,246.00
48	CTS- RE00-177	Doyen raspatory adult left	Doyen raspatory adult left 18cm	AAA-1333D	108	24.00	2,592.00
49	CTS- RE00-178	Doyen raspatory adult right	Doyen raspatory adult right 18cm	AAA-1333A	115	24.00	2,760.00
50	CTS- RE00-179	Doyen raspatory child left	Doyen raspatory child left 17cm	AAA-1332	116	29.00	3,364.00
51	CTS- RE00-180	Doyen raspatory child right	Doyen raspatory child right 17cm	AAA-1333	120	30.00	3,600.00

العدد: ش.أ.م. / ١٥ / ١

التاريخ: / ٢٠٢٥ /



جمهورية العراق
وزارة الصحة
الشركة العامة لتسويق الأدوية
والمستلزمات الطبية (كيميايا)
قسم استيراد المستلزمات الطبية

(لأجل عراق أخضر مستدام .. سنعمل معا لترشيد أستهلاك
الطاقة الكهربائية والمحافظة على البيئة من التلوث)

52	CTS-RE00-181	Doyen raspatory infant left	Doyen raspatory infant left 15cm	AAA-1333B	109	29.00	3,161.00
53	CTS- RE00-182	Doyen raspatory infant right	Doyen raspatory infantri right 15cm	AAA-1333C	101	30.00	3,030.00
54	CTS- RE00-203	APPROXIMATOR Baily Rib approximator large	APPROXIMATOR Baily Rib approximator large 16cm	AAA-1763	63	48.00	3,024.00
55	CTS- RE00-204	Baily Rib approximator small	Baily Rib approximator small 18cm	AAA-1764	77	48.00	3,696.00
56	CTS- RE00-209	Cannon intima Dissector	Cannon intima Dissector 6.5"	CID-A101	146	26.00	3,796.00
57	CTS- RE00-221	Wire cutters	Wire cutters 2.5mm	WPC-101	145	70.00	10,150.00
58	CTS- RE00-222	Wire twister	Wire twister 16cm	WT-101	152	27.00	4 104.00
59	CTS- RE00-236	Hartman mosquito haemostat	Hartman mosquito haemostat 10cm Serrated	S39-010	464	145.00	67,280.00
60	CTS- RE00-271	Debakey carbide edge scissors metzenbaum type scissors with tungste carbide- 7" (17.7cm) Straight	Debakey carbide edge scissors metzenbaum type scissors with tungste carbide- 7" (17.7cm) Straight	S35-020	157	40.00	6,280.00
61	CTS- RE00-272	Debakey carbide edge scissors metzenbaum type scissors with tungste carbide 10 1/4" (26.0cm) Straight	Debakey carbide edge scissors metzenbaum type scissors with tungste carbide 10 1/4" (26.0cm) Straight	S35-080N	160	40.00	6,400.00
62	CTS- RE00-290	Russian Tissue forceps: - 6" (15.5cm) 7 mm	Russian Tissue forceps: - 6" (15.5cm) 7 mm	AAA-0368	157	8.00	1,256.00
63	CTS- RE00-291	Russian Tissue	Russian Tissue	AAA	160	8.75	1,400.00

64	CTS- RE00-319	Metzenbum scissors, delicate pattern curved 8" (20.3cm) TC	Metzenbum scissors, delicate pattern curved 8" (20.3cm) TC	S35-032	166	22.00	3,652.00
65	CTS- RE00-362	Towel forceps stainless steel- Backhaus 5 1/2" (14cm)	Towel forceps stainless steel- Backhaus 5 1/2" (14cm)	BTC-103	398	7.50	2,985.00
66	CTS- RE00-363	Towel forceps stainless steel- Backhaus 3 1/2" (9cm)	Towel forceps stainless steel- Backhaus 3 1/2" (9cm)	BTC-101	351	7.50	2,632.5
67	CTS- RE00-385	Tube clamp	Tube clamp	TUCP- 101	336	20.00	6,720.00
68	CTS- RE00-390	Pressure infusion bag	Pressure infusion bag	PINB- 101	329	10.50	3,454.50
69	CTS- RE00-394	Babcock Tissue forceps 9 1/2" (1.3cm) jaws	Babcock Tissue forceps 9 1/2" (1.3cm) jaws	AAA- E2680	195	11.20	2,184.00